
JRHS 2024; 24(4):e00626

 

Figure S1 :The vaccine effectiveness against Omicron variant for the symptomatic infection by variables in the unvaccinated control group
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Figure S2: The vaccine effectiveness against Delta variant for the symptomatic infection by variables in the unvaccinated control group 
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Figure S3 : The vaccine effectiveness against Omicron variant for the hospitalization by variables in the unvaccinated control group 
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Figure S4:The vaccine effectiveness against Delta variant for the hospitalization by variables in the unvaccinated control group 

 
Study K 

time 

Effectiveness 

with 95% CI p-value 

1 11 

4 14 

8 16 

12 17 

16 11 

20 5 

Test of group differences: Qb(5) = 5.21, p = 0.39 

0.92 [ 0.88, 

0.93 [ 0.88, 

0.94 [ 0.88, 

0.93 [ 0.87, 

0.89 [ 0.76, 

0.87 [ 0.78, 

0.94] 

0.96] 

0.97] 

0.96] 

0.95] 

0.92] 

0.000 

0.000 

0.000 

0.000 

0.000 

0.000 

 

age     

>=12 yr 43 0.94 [ 0.93, 0.96] 0.000 

>50yr 31 0.89 [ 0.83, 0.93] 0.000 

Test of group differences: Qb(1) = 6.60, p = 0.01 

 

rob     

low 73 0.92 [ 0.90, 0.94] 0.000 

moderate 1 0.94 [ 0.91, 0.96] 0.000 

Test of group differences: Qb(1) = 0.74, p = 0.39 

 

booster 

Any 12 

BNT162b2 56 

ChAdOx1 3 

CoronaVac 1 

mRNA 2 

Test of group differences: Qb(4) = 273.32, p = 0.00 

studydesign 

case control 4 

negative case control 31 

cohort 39 

Test of group differences: Qb(2) = 53.56, p = 0.00 

 
0.94 [ 0.91, 

0.92 [ 0.88, 

0.98 [ 0.97, 

0.85 [ 0.82, 

0.93 [ 0.91, 
 
 
 
 

 
0.94 [ 0.84, 

0.97 [ 0.95, 

0.84 [ 0.79, 

 
0.95] 

0.94] 

0.98] 

0.87] 

0.95] 
 
 
 
 

 
0.97] 

0.98] 

0.88] 

 
0.000 

0.000 

0.000 

0.000 

0.000 
 
 
 
 

 
0.000 

0.000 

0.000 

 

previouscovidinfection 

no 1 0.94 [ 0.91, 0.96] 0.000 

yes 73 0.92 [ 0.90, 0.94] 0.000 

Test of group differences: Qb(1) = 0.74, p = 0.39 

 

Overall 

Heterogeneity: 2 = 1.03, I2 = 95.49%, H2 = 22.16 

Test of i = j: Q(73) = 1449.83, p = 0.00 

 
Random-effects REML model 

 

 
 
 

 
0.63 0.86 0.95 

0.92 [ 0.90, 
 
 

 
0.98 

0.94] 0.000 



Figure S5 : The vaccine effectiveness against Omicron variant for the death by variables in the unvaccinated control group 
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Figure S6:The vaccine effectiveness against Delta variant for the death by variables in the unvaccinated control group 
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